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3842-C
B.Com. (Third Year) Examination, 2018

BANKING AND BUSINESS ECONOMICS

(Business Mathematics)

Time : Three Hours
Maximum Marks : 100

PART - A (@uzg-31) [Marks : 20
Answer all questions (50 words each)‘.
All questions carry equal marks.
it v e € | v v I T vl @ s T 2
Tt W & o T £

PART - B (@uz-7) [Marks : 50
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks, -
TAH T & Uh-Ueh T T §U, F Ui ¥ Fifog |
T WO &I IW 250 WG} | Afeh 7 9|
vt ol % 3w wmE ¥

PART - C (@vs-w) [Marks : 30
Answer any fwo questions (300 words each).
All questions carry equal marks.
% <Y T AT | ek T o SR 300 St R S T |
vt wel % 3w wEE ¥
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PART - A
(@|ue-31)
UNIT - I
(3htE-1)
1. (i)  Find the derivative of the function.
71 e 1 STerhe F1d whifed |
Y=2x+x
(ii) Evaluate
T ST
I(4x3 +3x" - 2x+ 5) dx
UNIT - 1I
(3TE-11)
(iii) Define zero matrix.

Y Afeam &1 uftenfya wifsm)
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(iv) If (7fe)

%% e
A{—3 0] a“d(aﬂT)B:[s 2}

Find (I #IfST) 2A + 3B.
UNIT - III
(FTE-111)
(v) Write two merits of graphical method of linear
programming.
@i Hfe 5t mithehar fafa @ 9 2 o ferfd |
(vi) Define unbounded solution.
FrEitfia ftoms = aftanfya #ifed
UNIT -1V -
(FFE-1V)
(vii )" Write any two conditions of transportation problem.
e e 1 fredl 2 il et
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( viii ) Define duality.

g =t ftefia i
UNIT -V
(¥TE-V)

(ix) How many years it will take for money to be triple
when interest is compounded annually at 10%.
et ufen =1 10% =t T @ o a9 § fra g
Supll

(x) Find the amount of annuity of Rs. 7,000 payable at for
each year for 5 years if money is worth 5% per annum

compounded annually ?

g Ui 9| wifs st wigad 7,000 %., 5% Sehad! =ar<t
FI W 5 99 % o g st

PART - B

(Evs-)

UNIT -1

(3hTE-1)
2. Evaluate 91 Sif9T :

I 1

3842-C/9950 4




3. The total cost of a plant is given by
C(x)=20+2x+0.5x"
where C(x) is the total cost associated with the total output

X. Determine the average & marginal cost of the production.
T AU < ST e e &9 # faam o
C(x)=20+2x+0.5x?

el C(x) 3R x ¥ Tafaq Fa ar@ 1 39| % 9

AR & SEd AT H IO Fife |
UNIT - II
(3%r3-11).

4. If (3fR)

< -3 2
A{z 7J a“d(aﬂ‘)B:L -1]
FindthematrixCif(ﬂ'f?WCi‘lﬁmqﬁ)
2C=A+B
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5. Solve the following system of linear equations by matrix :
=1 wefteRtoil =1 Hifesm 1 WeEa 9 ' i
3X+4Y +5Z=18
2X-Y+8Z=13

5X-2Y+7Z2=20

UNIT - III

(ghTE-111)
6. Solve graphically :
T@iH g & HIfT :
Maximize Z = 6x, + 8x,
e g
Subjectby  30x, +20x, < 3;00
vafs fem g 5x, +10x, < 110
X, %20
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7. Solve graphically :

@i g T AT :

Minimize Z=2x,+x,

B LK

Subject to 3% =3

v e 4x, +3x,> 6
X, +2x,<4
XpX,20

UNIT - IV

(FFTE-1V)
8. Solve the following LPP by converting it into its dual :
Frefafea as v aoen = gaar § wRafifa =@ BU T

ST
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Maximize Z=6x, +2x,

Ffereram HIST

Subjectto  4x, +X,<5

wafew fem e 3x,+2x,<6
x|+x2£4

xl,x220

9. Solve the following transportation problem :

fot uftess SHE H & ST
Warehouse Store Availability
W, 2 7 4 5
W, 3 3 1 8
W, 5 4 7 7
w, 1 6 2 14
ﬁequiremént 7 9 18
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UNIT -V

(FFE-V)
10. Rs. 5,000 is invested at the end of every month in an account
paying interest 10% per year compounded monthly. What is

the amount of annuity after 5" payment.

IO%HﬁéﬁaﬁﬁWﬁaﬁ 5000 ¥4 Wfd AlE % 3fa #
w1 o ST € 1 5 fopea & ag feraet anfifant 9w @it

11. A man borrows Rs. 30,000 from bank at 8% compound interst.
At the end of every year he pays Rs. 7,000 at part repayment
of loan & interest. How much does he still owe to bank after

four such installments.

T Al 30,000 T9 8% Tehadl =TS H W ¥ dF F IUR
oA ? | % T&F T9 % 3fd F 7,000 T3 e 3R = % w9 F
wm%lmmﬁmwﬁ%mm%ﬂm
w®RM?
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PART - C
(@us-v)
UNIT - I
(g3-1)
12. Find the maximum & minimum of the function :

T & fushad Td <Fan q19 J1a S :
B x> +5x+3
3
UNIT - IT
(gT$-11)

13. Solve the following system of equations by using matrix inverse
method.
ﬁnaaﬁhﬂmaﬁﬁﬁﬁﬁqﬁwﬁqﬁﬁai#@aﬂﬁﬁQ|

3% F2y iz =0
-2x-5y+2z=8
x-y—z=-4
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UNIT - 11
( WQHI )
14. Solve graphically :
aiw g g Hifsg :
Maximize =~ Z=4x+3y
Afereran wHifsa
Subject to‘ 2x+y < 1,000
SEfh e x+y <800
x <400
y <700
X,y20
UNIT - IV
(FHTE-1V )
_15. Solve the following linear programming :

" T e s geen 9 e 9
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Maximize Z=5x, —2x, + 3x,
Subject to X+ —wel
=3 - ax, 53
X +3x, 53
X Xps X3 2 0
UNIT -V
(FHTE-V)

16. Aowe:r B two sums of money : Rs. 3000 due in 2 years and
Rs. 18000 due in 5 years. If A wishes to pay off the total
debt now by a single payment, find how much should the
payment be if money is worth 8% compounded quarterly.
A3IB A 38R fo 3000 F. 2 WA & forg o 18,000 F. 5
e & faw) 3 awa A F IUR ! THT THM =edl € @
<& Frat uftn 3 @it Srafi S w0 8% FwAd < H

e et § = S 2
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